[bookmark: _GoBack]Solve the following string equation problem 

utt = 1/4* uxx,   0<x<1,t>0,
u(0, t) = 0,              u(1,t)=0,          t>0

1/2 * x,   0< x<1/2
           u(x,0) = 
1−x,        1/2<x<1. 

ut (x,0) = 0
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Solve using separation of variables and D’Alembert. Show solutions in detail.
Graph both solution u(x, t) for t = 0, 1, 2, 4. 

image1.png




image2.png





Solve the ollowng seing cquaton problem

= A, Dl 00,

wo,0= wigs, o0

° 12y, bexan
)

(RN IN

)=

‘Solve using separaton ofvariables and D" Almber. Show seltions
i detal,

Graph both solution uix, ) for 1=0,1,2,4.




